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MaTH 530 ... \ExXAM 3

0) Exam Start Time:

0) MyWSUid and Name:

e S
) For problem 4 from sectlon 1.1 answer the following: U\'\b\ re()@
W —
) Model the h a raph.
@uppose there are six people—\Jo! 0s| Ste 'm Wen —who
pass rumors among themselves. ach ddy J ohn tdlks with Mdry and Wendy; Mary
talks with John, Rose, and Steve; Rose talks with Mary, Steve, and Ted; Steve N\ 3
talks with Mary, Rose, Ted, and Wendy; Ted talks with Rose, Steve, and Wendy; 9 m
and Wendy talks with John, Steve, and Ted. Whatever people hear one day they
pass on to others the next day.

b) Write the adjacency matrix, Ag for your gr in part a)
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¢) If your graph is undirected give the degrees for each vertex. If your graph is directed give the
in-degree and out-degree for each vertex.
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2) Show thagthe graphs are not isomorphic.

3) Show that the graphs are isomorphic. ﬁ




4) If you are told that you have E edges in th@omplete graph, how many in the
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/ \ 5) Is the given graph bipartite?) Explain your answer.
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Is the graph planar? Find|K33 or onfigurations if it is nonplaner.




7) Is the graph planar? Find K33 or K5 configurations if it is nonplaner.

8) Does the given graph have an Euler circuit or path
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) When does the complete bipartite grapve an Euler circuit? When does it have an
Euler path? Explain your answers. F’_Zf\\ QQ%L‘(\ aR LI~

@ CONCYAENS VS
/'7/ \,\,J\\/\&‘& > Q,_SS'J/,.,Q'———;C—Q‘
QU\M 5% K © 1= m?ig’& ) e abr 020
- Q Qon (PR e an Y )
0 ‘ ¢est Y
/ : | Loy 09) 0.
G o S
w\ @ & »
Q\{m\\\{/z_ \3¢)> N

10) Does Dirac’s Theorem apply to the 3D cube Q37 Does it have an Hamilton circuit?
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@f you have@nd one of the may @' be a fake (that could be light or heavy), what is

ninimal usesS of a balance scale you would need to determine if you have a fake coin and it’s
weight (light or heavy)? Make a decision tree to find the fake coin and it’s weight (light or heavy).
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0) What is the time you ended working on the exam and started scanning it?



